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2.
4 2
3 1 77 1 3 ;
1 3 '
3 1 2 4 — s =
B. — > — B. — > — B. 5 > 5
5 5 5 3 4
1 3 '
3 1 7 - < =
C. — < — cC. — > l C 5 < 5
5 5 2 4 5
5 5 '
3 1 2 4 = - =
D — < — D — > — D. 1 > 3
2 4 7 7 6
7.
4) S) 6)
8.
9.
7 1 3 2 3 2
A — < — A — > — A — < —
3 9 2 3 7 8
3 9 2 3 7 8
B. — < — B. — < — B. — < —
10 10 3 2 3 2
9 2 3 10 10
10 10
= s = 3 2 10 10
D. 3 > 9 D. — > — D — > —
5 5 7 8
7 8) 9)
6 2 2 8 2 3
A — > — A — < — A — < —
8 8 10 10 4 4
2 1
2 6 8 2 2 3
2 6 8 2 2 3
= 5 = 5 “ C. — < —
“ %72 C 53 2 1
6 2 8 2 4 4
D. — > — = > = D. — > —
2 6 b7 >3 2 3
. 1-9 [89[78]67[56[44[33]22]11] 0]
[ Toan HQC ] vn.CommonCoreSheets.com 3




Cll# So sanh phan s6 Ho va Tén: L0l giai

Xac dinh dap an nao phu hop nhét véi cac phan $0 trong hinh. Cau trd 10i
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